HMANIE BT 4
D EIENAE / 5 &R

EUHE - BARSARENDEEVE
EH 22110.

EmiEiR

EMHEERRND EEMEN S EIRE
EEZBERELRR.

e BSEA
- i, EiL, B SFEEIg

o TR, @I
The thread is matched to the mounting blocks
for index bolts and index plungers, die-cast
(EH 22110.) and mounting blocks for index
bolts and index plungers (EH 22120.).

EZEM

© XEE, ARofRe N BIENE  BiE
« XEE, BARD ERe NS BIRVE

&
L2
Ly
ls
/ L
- —_— | =
o 1+—FE3 v| ©
L
l3
FTEEA
R~ emige A WS i
d; ds dy da I I I Is Is
+0,1 -0,05 +0,5
[mm] [mm] [mm] [a]
]
M12x 1,5 4,2 24 12 10 16 1 5 1,5 4 4 17 22110.0464
M12x 1,5 52 24 12 10 16 11 5 1,5 5 4 17 22110.0465
M12x 1,5 6,2 24 12 10 16 11 5 1,5 6 4 16 22110.0466
M16 x 1,5 8,2 32 16 12 20 13 7 1,5 8 6 36 22110.0468
M16 x 1,5 10,2 32 16 12 20 13 7 1,5 10 6 34 22110.0470
M16 x 1,5 12,2 32 16 12 20 13 7 1,5 12 6 33 22110.0472
TR
M12x1,5 4,2 24 12 10 16 1 5 1,5 4 4 17 22110.0474
M12x 1,5 52 24 12 10 16 1 5 1,5 5 4 17 22110.0475
M12x 1,5 6,2 24 12 10 16 11 5 1,5 6 4 16 22110.0476
M16 x 1,5 8,2 32 16 12 20 13 7 1,5 8 6 36 22110.0478
M16 x 1,5 10,2 32 16 12 20 13 7 1,5 10 6 34 22110.0480
M16 x 1,5 12,2 32 16 12 20 13 7 1,5 12 6 33 22110.0482

182
EE HALDER Fi&7£: 10.8.2024


http://halder.com/tw/22110.0464
http://halder.com/tw/22110.0465
http://halder.com/tw/22110.0466
http://halder.com/tw/22110.0468
http://halder.com/tw/22110.0470
http://halder.com/tw/22110.0472
http://halder.com/tw/22110.0474
http://halder.com/tw/22110.0475
http://halder.com/tw/22110.0476
http://halder.com/tw/22110.0478
http://halder.com/tw/22110.0480
http://halder.com/tw/22110.0482

HMANIE BT 4
DEIEMA / 5o EIRE

P& R &4

L

BEFANESRES  BEEMENER.

HEM 22
ENHALDER IR 10.8.2024



